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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
wore fracaes Rogad See 2

a) If a constant value 30 is substracted
from each observation of a series, the
mean (AM) of the series is

&5t TR e AR | 30 Koot IR,
ENBR TR Ny

(i) increased by 30
30 @R’ 27

Contd.



(i) decreased by 30

30 W T

(iii) not affected
I RS w=W

(iv) zero

Q.

(Choose the correct answer)

(3% Cawehr AR ClAea)

(b) The geometric mean of four values
2,2,0,4 is

2,2,0, 49 GUIGT Tty (207 |

- (Fill in the blank)
(T 2 799 7))

(c) State Newton’s backward interpolation

formula.

TTAT oIl SRS e |
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(d)

(e)
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The data which have already been
collected by someone is called

o I TOTS TReAT IR (AR SYTRS
FRIA

(i) primary
T
(i) secondary
¢l
(iii) quantitative
AR
(iv) array
)6l
(Choose the correct answer)

(A Gah! AR Ged)

The first three moments of a
distribution about the mean X are 0, 4

and 0. The distribution is .
(Fill in the blank)

ﬂﬁma%mmmmm%ﬁhtm 0,4

oF 0 T (ST IBAH! ___ =3l
(AT HZ 979 F)
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0

(g)

For a skewed distribution mean =6,

median = 5, find the value of mode.

G5! {99 IS I = 6 WF TG = 5, (ST
Y W Sleed |

The correct relationship between AM,
GM and HM is

S 4, STIG e SIF TAIGE T e
#e woid ai Sferedt|

() AM=GM=HM
(i) GM2>HM32AM
(i) HM2AM2GM

(i) AM2>GM>HM
(Choose the correct answer)

(o7 Gawihr R GA6T)
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. Answer the following : , 2x4=8

wete AR ©es A ¢

(@)

(b)

(c)

(d)

Write down one merit and one demerit

of AM.

FIST NI G5 @ OF g5 i T

State the properties of correlation

coefficient.

ALTIEA QNI PR ot

Define contingency table.

ABrET oo Aee! wal |

Derive the relation between the

operators A and E.

A SIE E S#IR5 WMo s afeg 301
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3.

Answer any three questions : 5x3=15

Rirerzen fofab) eriq Tex forall ¢

(a) State and prove Newton’s forward
interpolation formula.

T SNt ! Brdl W 2

(p) Show that standard deviation is
independent of change of origin but not

of scale.

@Sl @ g Roew RIS 8oige
T TeE % (TR TR ARG
@sige RS |

(c) Define a statistical table. State the
essential qualities of a good table.

AR AR e Rl | G2 e ARTR
SRR SR I 1 |

(d) What is an index number ? Explain the
role of weights in construction of price

index number. 14+4=5
IHIRS T 2 T IPIT 157e O
oo Rawa o)
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N

(e) Explain Newton-Raphson method.
fAEBH-TI767 ARSCo! I |

4. Answer either (a) or (b) : 10x1=10
(a) A (b) TR TEI A ¢

(a) (i) Given below is the distribution of
120 students marks obtained in a
certain examination :

<5t #STFIS 120 T PR (AR TFPRR
oo Al SR 3
clL 10-20 20-30 30-40 40-50 50-60 60-70 70-80
(R o)
No. of students 25 20 15 25 15 10 10
(/% *)
Calculate mean and standard deviation.
3+4=7
oG o TS oW e 3
(i) Find f(2) from the following data :
3
e iR 2| f(z) Rfa e
x :12 3 4
f (x) s 7 - 13 21
3 (Sem-1/CBCS) STAHG/RC/G 7 Contd.



6.

Answer either (a) or (b) :

AR CPIRICESIT At Sfnedl o 2R A
B S @ Sfeed

10x1=10

(@) Tt (b) TR TSI T ¢

(@)

(b)

()

(i)

)

Evaluate (Sf&ea)
dx
1+ x2

Q© Gy b

by using Simpson’s -31-rd rule.
' 6

Bt § 7 TR A

Given (Fal S®)

(A) =90, (AB) =40, N=150 f:lnd
(B) = 80. Prepare the required
contingency table. 4

e TS ofr #ge T4

Find the coefficient of variation
from the following data :

oo S SR Roet weiies fefm T2
58, 69, 60, 54, 65, 52, 75 79
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(i

(iii)

IHPIS NG RCPIET! 5! 01 St

- What are.the relative measures of

dispersion ? Discuss. 4

- IR oA TR [ 2 Sncasn

_w_ '
Discuss any two pfoblems faced

in construction of index number.
2

|
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